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- cn Y‘ LY 1{. M)
Find §u(v-F) and curl(F) =V xF pt 1 ] (zk,‘ b’}\
F(x.y.2) :<:_z’,_1::_\:l-jz> c(w ( b)w l,‘k 4+ (‘\% 4 ‘L ]

Evaluate J'(x — y)dx + xdy i&iis the graph of 3? = x from (4,-2) to (4,2) :
7% o Otk lmluwon e LY, —= N
I Find the work done by F(x,y.z) along the curve (<4 4{(7}> from (0, 0, 0) to (2, 4, 8), where |

Fleyn=<nn> ( cqy o = Sqx Ayt cda -

Check which of the following vector fields is noftonservative.

Fx, 1) =<3x%v+ 2.2 +41° > - \&QM‘\, J'SUM_;.(,]PM_

F(x.v)=<e"3-¢"sin(y) >

- Find a conservative vector field that has the gi
flz.y.2) = sin(x” +yz +zz)

F(x, v,2) =< 8xz,1-6y7° 4x* —9y*7" > 2

Show that the line integrals are independent of the path, and find their value:
[ (3.11) L 1
I("I’z +2x))dx+(x7 +2xp)dx 'C.‘ K‘ﬁ X \1’ |
(-1.2)
(2.1.3)
j (69 +220)dx +(9x2 v )y + (dxz +1)dz =]
(1,0,2) S|
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